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QUESTION 1

You want to reduce lock contention that results from uncommitted insert and delete operations by enabling transactions
that read data to access only the currently committed data rather than waiting for the uncommitted changes to be
resolved.

How can you accomplish this?

A. Bind your application with ISOLATION(UR)

B. Bind your application with ISOLATION(CS)

C. Bind your application with CONCURRENTACCESSRESOLUTION (WAITFOROUTCOME)

D. Bind your application with CONCURRENTACCESSRESOLUTION (USECURRENTLYCOMMITTED)

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/
db2z_accesscommitteddata.html

QUESTION 2

Which of the following are valid objects created using DDL? (Choose two.)
A. PLAN

B. PACKAGE

C. DATABASE

D. SEQUENCE

E. USAGE LISTS

Correct Answer: DE

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_10.5.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0023321.html

QUESTION 3

Assume DELETE triggers exist on the employee table. Which of the following statements will delete all the rows in the
employee table and ignore any DELETE triggers?

A. TRUNCATE employee;
B. DELETE FROM employee;

C. DELETE FROM employee WHERE...;
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D. TRUNCATE employee RESTRICT WHEN DELETE TRIGGERS;
Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_delete.html

QUESTION 4

In order to run a DB2 program, the user issues the following commands:

TSO prompt: READY

USER enters: DSN SYS(SSTR)

USER enters: RUN PROGRAM(MYPROG)

USER enters: END

What is the result?

A. DB2 does not allow these commands

B. DSN command can not be used to run a program

C. Start a DSN session with DB2 subsystem SSTR, run a program and end the DSN session
D. Start a DSN session with system parameters SSTR, run a program and end the DSN session
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/comref/src/tpc/ db2z_cmd_dsn.html

QUESTION 5

You have created a new index. What is the command to potentially change the access path for a static package?
A. FREE

B. RESET

C. REBIND

D. REFRESH

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/
db2z_influenceaccesspaths.html
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